HEVEANZET TSR ERXRBRETE

WBes7 2=
1135E1H1H ~ 11354 H30H R e
EEHE AR IRA=EZE S
4000 WA 958,498
4300 HERBIA - S E 450,000
4301 HEMPIWA-REREEEST 250,000
4302 BRI -EEEEEA S 210,000
4303 HERBIA-&E & i e B Rt 48,000
4900 PN -EE= 498
5000 H 691,066
5100 NEE 147,124
5101 B TR 36,000
5102 T T B - 24 R Rl =7 1% 102,000
51031 {efRE 9,124
5200 N = 16,920
5201 X H R 155
5202 ENmi 2 5
5205 R 1,760
5207 ATHEE M 15,000
5300 EBE 526,092
5301 4R _LEEBEnE 193,630
5302 B2 RPN EHE 106,000
5303 B R R e E 88,000
5304 AR DT E R R 59,200
5305 SN R 2,500
5306 Bbrestat R ARENE 71,960
5310 A 2,002
5312 EEE 2,800
5400 HAth =7 H 930
5407 TR S Y 600
5408 PEFK ~ BT EE 330
6000 R4l 267,432
. :EQ B o1 . Hi #\ G :

IE%% @ 3 wuﬁ?g !1_:&._ = %(L




